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FHED © BEREERE (12 97)

Section A: Multiple Choice Questions (12 Marks)

1. RN EEAYE - SEhETZ AL B S YT A -
According to the star trails in the figure, estimate the location of °
the place and the facing direction.

A dERERE TS East at North Hemisphere

JEEERPE West at North Hemisphere

B FERER East at South Hemisphere

[ =85 Wl West at South Hemisphere i’b @ Ground

OO0 w

2. REEGE AMEAEAFRILEERATR S 2
According to the graph, which position

represents the autumn equinox of the

Earth axis
Northern Hemisphere? $o bl
A A D& B
B. B
C. C
D. D
A
3. HEEK EAHREEFILL NUME T 2R SR 7
Which of the following astronomical phenomena cannot be observed on the Earth?
A, +EZEH The transit of Saturn
B. KEW{T The retrograde motion of Mars
C. SEKE The phases of Venus
D. &EH AR The eastern elongation of Venus
4. EH=EME - HERFEEER 7  REA AT ZE S H B -
During the total solar eclipse, the moon mainly covers the such that the observation
of solar prominence is possible.
A. HES= Radiative Zone
B. tEkE Photosphere
C. trkf= Chromosphere
D. H& Corona
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M R B AL IREE Y - -
In the HR Diagram , type M main-sequence stars locate il
at: _|§ ‘.. 5. :
10t % e
ﬂé ™
. E 1 4—
A HE Top right E
B. AT Bottom right ;1" 102 ""6’{3_:_,.
C. Kk Top left L - . .
| 2y 2§ |
D. KT Bottom left 740,000 20,000 10,000 5,000 2,500

W2 & Temperature (K)

PUNAE— {222 RAGH IR N2 25 ?

Which of the following deep sky object catalogues is about dark nebulae?

A, FBHEERR KSR Caldwell Catalogue
B. E4n{E-KEEsF= Barnard Catalogue
C. WiakEE REE%F=R Herschel Catalogue
D. EENEEHEFE New General Catalogue of Nebulae and Clusters of Stars

GEEEELL N — B E A IR 5 7
Which of the following general relativity phenomena is

beeing simulated in the figure?
A, ZEfmZXUN%E Lorentz Contraction

B. HFEEAE Time Dilation
C. A The Constancy of Speed of Light
D. AJH Black hole

DU AR A R T 2 A i U2 TERERY 2
Which of the following statements about stars is/are correct?
1) JRAGTALE 2 Y T B U A TR ©

Protostar is formed by the collapse of a molecular cloud.

) & 2 NE =W R LREARY 2RI -
Supernova is the explosion at the last stellar evolutionary stages of a massive star.
) RV EEEHNE IR EFEPEE ST -
The formation of neutron star is mainly due to the fact that the gravity of the star is greater than its

neutron degenerate pressure.

A, HAEIEREI l'and Il only

B. HAEIKI I and 11l only

C. HEHIEN Il and lll only

D. DIEERE Above of the above
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PN —IRALA & (A B Ay £ B 53 2

Which of the following observation is/are not the main discovery of Galileo?

A, HEAMARE Craters & mountains on Moon surface

B. KEAMHEL(EE) Phase transition of Mars

C. KIGEv K HH#HE) Sunspots & its movement

D. VURfEIRGEARE \iE The four satellites orbiting around Jupiter

. REBAEIDL NS AR IR B A5 A NI ?
According to the comet diagram on the right, which of the

following is the correct description of the indicated

structure?

A EEIRE - B Dust tail , Blue
B. [EEIRE - =E Dust tail , Yellow
C. BrE- Efr lon tail , Blue

D. BiFE - -=& lon tail , Yellow

- SRR B ALY 2 R ?
What type of galaxy does Milkyway Galaxy belong to?

A HEEIE A Elliptical Galaxy

B. iR AR Spiral Galaxy

C. AHATEAR Irregular Galaxy

D. DI E#EEFEERIE None of the above answers

EURA— (8P 757 2 AL Bt RSy A R 2

Which of the following constellations locates at the Azure Dragon in the ancient Chinese Astronomy?

A, KEERE Ursa Major
B. Rt Scorpio

C. P Orion

D. AilrZgke Andromeda
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ZHh - EaeE (13 77

Section B: Conventlonal Questions (13 Marks)

1.

%ﬁ

A RS — (R /NS VA — 2 S DL B - DA T2
2okt

Orion nebula is a deep sky object in Lyra, Siu Keung plans to observe it with a telescope. The following

are the information of it :

SRR 1344 J¢AF (light years)
Distance to Earth
RN
Apparent 65 fi47 (arcmins)
Dimension
A
Apparent 4
Magnitude
() BWEEREEBRI—HEE? (147)
What types of nebula does the Orion Nebula belong to? (1 mark)
(b) FREAIRIN ZREE A TEREE ? (147)
What types of stars can generate this type of nebula? (1 mark)
(c) Ab—(EH a2 RAe S AE TR tH AR RTH 2 (147)
Which month does this deep sky object appear at the zenith mid-night? (1 mark)

(d)

(e)

/NGREEERAE 20mm BV ESE T % B ERITUANMUBOR 2 35 B 55 iR RIEE %) 2
(K2 (2 77)

Siu Keung realizes that the apparent dimension of the object becomes 35 degree under a 20 mm

eyepiece, what is the focal length of the telescope? (to the nearest integer) (2 marks)
Hek E B ELLR /5 /INERE G HZEERET] 13 FHEE 7 (2 97)

If the focal ratio of the telescope is f/5, can Siu Keung observe a faith star with apparent magnitude

13 by using this telescope? (2 marks)
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2.

TEE A B R H B R ORI S TR E -

Figure shows the tide prediction of Quarry Bay in a specific month.

| SN R AN

—-—

[ R

o ;o o O MM

Height(m)/ =& (OK)
- BN o

-

(a)

(b)

(c)

Ry BT A K CHYH DA R mE R e © (147)
In the figure, why dates A and C have a high amplitude of tide ? (1 mark)

E1E D HTHyEBRFERIHE - SFiEHAEA ~ B~ C~ D P HEY— ? slffills - (3 47)

If one can observe the moon in the morning on date D, which date among A,B,C, D is the lunar first

day? Explain your answer briefly. (3 marks)
Hie—ER R =8 > SFTEEE A B~ C> D HHl—X ? slf - (2 57)

If total solar eclipse will appear in this month, which date among A,B,C, D will it be? Explain your

answer briefly. (2 marks)

445¢ End of Paper
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